- ALICE 05%fF  510%} 10-20% 1
" Pb-Pb | Sy, = 5.02 TeV - ;
_."*"l'"""_' """""" '.""'"‘"!"f";_ """"" -."'"".'"'""". """" =
. . | .
| @ ALICE i I i
0.8 & VPT ¢
= L | L L L L L L L L L -
j 20-30% 30-40% 40-50%
1""*""""""' """""" '.""."""U"-""'; """"" " @ @ @ =Ty Tttt =
i ° e o
L [ ] ®
0 9_ AMPT+EBE-VISHNU, n/s = 0.08 [ i . i
M1 AMPT+EBE-VISHNU, n/s = 0.20
TRENTo+EBE-VISHNU, 1/s(T) 0.2 < p[l_ef <5 GeV/c

[ (GeV/c)

P, (GeV/c)

T T | | A | Ltsosal e, T e T e S e e e
05115225335 051152 253 35 051152253 354

P, (GeV/c)



